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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

The profit earned by selling an article for rupees 405 is 14 (2/7)% more than
the loss when the same article is sold for rupees 165 find the cost price of
an article.

TF 951 F 405 T4 | 994 q g q1AT ATH 14 (2/7)%%3'@15'@%@( ST ST
FE T 165 TAL H AT STAT § ST A€ i ARTT LT AT HIOT

j’llﬁé)277

(b) 382
(c) 285 (d)
112
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A man sold his TV in Rs. 7000 he offers 8% discount then he
earn 19.6% profit , If he does not offer any discount then find
new profit%

T AQHT g7 et 7000 T § 9= foATI 98 8% Y Y W1+
FLAT g T a8 19.6% ATV SASTq FLaT g, AlQ 98 FIs g TS @l
HLAT g AT AT ATH% 1T hiforTl

ya) 20%

(b) 30%
(c) 25%
(d) 36%
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1000 QUESTION SERIES

X = 513 + 5-18 find/ stTa Fiforw
3 5x83-15x=7?

M) 26

(b) 25
(c) 24
(d)O0
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1000 QUESTION SERIES
5 sine + 12 cos 6 = 13 find / sITa Fiforw

tane =?
M) 5/12

(b) (b) 17
(c) 1/13
(d) 5/13
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5 If a sum of money compounded annually
becomes 1.44 times of itself in 2 year, then the
rate of interest per annum is-

Tfe 2 99 | Tiaay Fehg (e T W7 1.44 A7 g 14T
g, T I T9 SIS &l X &-

(1) 25%
(2) 22%
3) 21%
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The difference between compound and simple
interest on a certain sum for 3 years at 5% per
annum is Rs. 122. the sum is —

3 9T % forw 5% i a9 o= usw [Afsra afr w gty
ST FTLTIOT SATST o A1 T FAL T 122, qIA g AV T8

T /T M-
(1) Re. 16000
(2) Rs. 15000
(3) Rs. 12000

(4) Rs. 10000
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G\ SSC CPO/CHSL/CGL TIER Il 2023
S The marked price of a piano was Rs. 15000. At the time of |

V4 sale, there were successive discounts of 20%, 10% and
10% respectively on it. The sale price was.

o fogr it s i € 15000 <. fasht & 997, ST 9%
FH: 20%, 10% 3T 10% FHt TR Y2 o8 ot gor 9ml

[(1) Rs. 9120

(2) Rs. 9750
(3) Rs. 9760 |
(4) Rs. 9780 |
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Ravi starts a business with Rs. 45000. After a certain period of
time he is joined by Mohan who invests Rs. 30000. At the end of
the year they divide the profit in the ratio 9 : 4. When did Mohan
join Ravi?

T 45000 T F 1T Th AFITT L& FT gl. T AT G997 & 91
98 HIgw & [ STar g ST € 30000. FRATE d¥ H Fq A F AT 1 9: 4
% FaTa # faTiora X g1 ar MgT 7 T Ay 7 i fRar?

(1) After 3 months
(2) After 5 months
(3) After 6 months

(4)
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A car and a jeep were sold for Rs. 12000 each. The car was
9 sold at a loss of 20% while the jeep at a gain of 20%. The
entire transaction resulted in —

T FTC 3T TH ST =9 12000 T<4F H =1 T off | 1€ FT 20%
sl T 9L =T 39T, Faieh ST Dl 20% F AT I TG e 6
TR &Y -

(1) Neither loss nor gain
(2) Gain of Rs. 1000

(3)[Coss of Rs. 10000
(4) Gain of Rs. 500
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A man invests a part of 10000 at 5% and remaining at 6% .

The 5% investment yields annually Rs. 76.50 more than the
6% investment. The amount invested at 6% is

0 TF ATk 10000 FT T REAT 5% FT I F AW(Q g qTht 6% 9,

5% I fas« areT 89T 76.50 ST wTH ATt 6% W/, A 6% WX
FARTTAT AT T TTq Y

(1) Rs. 3600

(-850

(4) Rs. 4000
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A man divides his property so that his son's share to his wife's and
wife's share to his daughter's are both as in the ratio 3 : 1. If the

1 daughter gets Rs. 10000 less than son, the value (in rupees) of the
whole property is —

1 o qrmefr st s 7 Frafore Feam & Avee o0 3 97 ooy 3o

TAT T 3T TAT 7 FREAT ST AT & AT 3: 1 % FTATT § grl Tiw a4t

FI %l 9 T 10000 FH, T T 7 G (T H) ¢ -

OLEETEE
(2) Rs. 16000
(3) Rs. 1825

(4) Rs. 17000
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If X runs are scored by A, yrunsbyBandzruns by C,thenx:y=y

1 : Z =3 : 2. If total number of runs scored by A, B and C is 342, the

runs scored by each would be respectively-

2 IRXTTAGTAIUAAE, Y @B ERT iR ZWCEUE, AAX Y
y:z=3:2. TfT A, B 3liX C g FHTT Y Tl |t 9&q1 342 g, v

9@?5 ?rﬁm%rt«ramraﬂm
(1) 144, 96, 64
(2) 162, 108, 72

(3) 180, 120, 80
(4) 189, 126, 84
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If 2x-1 + 2x+1 = 320, the value of x is -
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108 + V169 =?

If%ﬁ

(3) 6

(4)
10
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3 ]
{ J 15612 + /154 + /225 is equal to

<

1) 15

(3) 75
(4) 125
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If2=><+1 11 ,
+_

6 3+

X =7

| =

(" [T

(2) 21/17
(3) 13/17
(4) 12/17
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When (———+——%) —(%——+——1—78) is result is

(fstr10) ||

(2) 2 (1/18)
(3) 3 (1/6)
(4) 3 (3/10)
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S 33C CPO/CHSL/CGL TIER Ii 2023
— Which of the following statments) is/are True?/ ®TaT |

1 wmERd
8 . V11 +V7 <10 ++/8
IL. V17 + V11 > V15 +/13

(honly!l |
(2) Only Il

(3) Both | and |
(4) Neither | nor |
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1 1 1 1 1
1+\/_ \/_+\/_ \/_+\/_ VarVs  Veeve | \/_+\/_

9\/_+\/_ \/_+\/_
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~ 2 The mean of 13, 23, 33, 43, 53,63,731s
0

1) 20
h

(3) 56
(4) 28
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1 7 |
x°+=>=-forx>0, x+==7?
X 4 X

(1) 2

)
(3) V5
4)3

https://t.me/MathbySuryaveersir



https://t.me/MathbySuryaveersir &




